Rapid Reasoning | Answers Year5 | Week 2 | Day 4

m Complete this multiplication table. m Match up each triangle with its correct
name and property.

X 6
8 Not to scale
5cm 4cm
7 42 56 .
m 6cm cm zcm
30 5cm 7cm
5 40
e N . R
72 scalene equilateral isosceles
12 96 triangle triangle N triangle
2 marks \
all sides the no sides the two sides t}e

to the nearest 10,000.

1 mark

n What is the largest number that it could be?

794,999
1 mark
n What is the smallest number that it could be?
785,000
1 mark

« THIRD SPACE LEARNING © Third Space Learning 2018. You may photocopy this page.



Rapid Reasoning | Mark Scheme Year5 | Week 2 | Day 4

Requirement Mark | Additional guidance
Q1 x 2
6 8
7 42 56
5 |3° 40
12 |7 96
ONE mark for three correct answers.
TWO marks for all correct answers.
Q2a | 794,999 1
Q2b | 785,000 1
Q3 . pem Not to scale 1 All shapes and properties matched correctly
sem to achieve the mark.
2cm
o m 6cm cm =~
scalene — b equilateral isosceles
triangle triangle N\ triangle
all sides the no sides the two sides t}e

same length

same length

same length
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